# Figure 1

> data=read.csv("D:/VA/Data in Brief/Data Survey_Readinghabit.csv",header=T) 
> attach(data)

> hist(data$APS45,col='pink',xlab="APS45",ylab="Number of people (person)",main="Histogram of APS45")

# Figure 2

> library(ggplot2)

> p1=ggplot(data,aes(x=Topic, fill=Readbook))+geom_bar()+ylab("Number of people (person)")+xlab("")+theme_bw()+theme_classic()
> p1
# Figure 3

> p2=ggplot(data,aes(x=Hobby, fill=Sex))+geom_bar()+ylab("Number of people (person)")+xlab("")+theme_bw()+theme_classic()
> p2
# Table 3
> tab=read.csv("D:/VA/READBOOK/Du an 1_Data in Brief/tab.csv",header=T)
> library(VGAM)
> fit.md=vglm(cbind(yes,no)~Sex+Grade,data=tab,family=multinomial)

> summary(fit.md)

# Figure 4
> m1=c(0.941, 0.837, 0.878, 0.753)

> m2=c(0.978, 0.941, 0.957, 0.904)

> plot(m1,type="o",col="black",pch=20,lty=2,ylim=c(0.7,1.0),axes=FALSE,ann=FALSE)

> axis(1,at=1:4,lab=c("6","7","8","9"))

> axis(2, las=1, at=c(0.7,0.75,0.8,0.85,0.9,0.95,1))

> lines(m2,type="o",pch=20,col="black")
> title(xlab="Grade")

> title(ylab="Empirical probabilities")

> legend(1,0.8,c("Male","Female"),cex=0.8,col=c("black","black"),pch=20:20,lty=2:1)
# Table 4
> tab1=read.csv("D:/VA/READBOOK/Du an 1_Data in Brief/tab1.csv",header=T)

> fit.md1=vglm(cbind(yes,no)~Sex+EcoStt,data=tab1,family=multinomial)

> summary(fit.md1)
# Appendix A
> tab2=xtabs(~School+Sex)

> ftable(tab2)
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